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O Complete the subtroctions.
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O Complete the port-whole models.
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Use the bor models to help gou.

O Complete the subtroctions.
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Jock hos , of o chocolote bor.

He eots $ of the chocolote bqr.

Whot froction of the chocolote bor does he hove left?

X

Jock hus 
H 

,t the chocolute bor left.
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O Complete the port-whole model in four different wogs.

Kim hos reoO f of her book.

)
Tom hos reod f of his book.

s) Shode the bor models to represent this informotion.

Tom

b) How much more hos Kim reod thon Tom?
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Kim hos reod more of her book thon Tom.


